Vehicle Installation Instructions and
Parts List
Model 1505
Mount Assembly Box No. 62200
Chevrolet/GMC “S” Series 4 x 4
83’ & Later
Hydraulics Box No. 56355 or 56365
Harness Kit without DRLs, No. 61545,
61575, or 61515
Harness Kit with DRLs, No. 61555, 62535,
or 61585
February 17, 1997

Mount Assembly Box No. 62200
PARTS DIAGRAM & LIST

WESTERN PRODUCTS
7777 NORTH 73RD STREET
P.O. BOX 23045
MILWAUKEE, WISCONSIN 53223

ssssss

NOTE: This symbol designates a change made in the
instructions since the last revision date of February 6, 1995.

Pin short end of link arm into

21
lug with chamfered side of 31 29
hole towards cinter of vehicle. i /

2

Refer to the current
selection list for
minimum vehicle

recommendations and
ballast requirements.

Use items 22, 32, 40 on ‘83 & 84 models ~ 32 —@ o— 31
For ‘85 & later, use existing fasteners. 29 ____a 8 a__ 21
ITEM PARTNO. QTY. DESCRIPTION ITEM PARTNO. QTY. DESCRIPTION
1 62202 1 MOUNT FRAME 1505 41 91335 8 1/2-13 PT HX LK NUT NYIS ZYC
2 61916 2 LINKARM LUG 43 91338 2 3/4-10 PT HX LK NUT NYIS ZYC
3 61917 2 COUPLING LUG 44 93062 2 RIVET 3/4” X 3-1/4” G5 ZYC
4 62246 2 LINK ARM 45 91911 2 5/32X1-1/2 COTTER PIN ZYC
5 61486 2 NUT BAR 7/16-14 NOT SHOWN
6 62201 1 SPLASH GUARD 55930 1 BATTERY CABLE ADAPTOR - Set of 2
7 62248 1 SHIELD 61536 4 CABLE TIE - LONG
8 62252 1 COVER ASSY 62262 1 DASH BRACKET W/FLASHER ASSY
22 90040 2 3/8-16X1-1/4 HX CS G5 ZYC " 60109 1 FLASHER HD
23 90067 4 7/16-14X1-1/2 HX CS G5 ZYC Parts listed above may be found in the following assembly.
24 90100 8 1/2-13X1-1/2 HX CS G5 ZYC 62249 1 PARTS BAG ASSY (62200)
27 90154 2 3/4-10X2 HX CS G5 ZP
28 93169 2 3/8-16X1 HXW TRTS TY SW ZP
31 91102 3 5/16 PLAIN WASHER TY A STD ZP Abbreviations
32 91103 2 3/8 PLAIN WASHER TY A STD ZP o o, oy SPRING
33 91107 4 3/4 PLAIN WASHER TY A STD ZP G G TRTS Tread Roiig
34 91204 4 7/16 SP LK WASHER ZP B Hex v Tpe
38 91571 1 5/16-18 CAGE NUT HXW - Hex Washer Wi
39 91332 2 5/16-18 PT HX LK NUT NYIS ZYC NYIS  Nylon insert ZYC  Zinc Yellow Chromate
40 91333 2 3/8-16 PT HX LK NUT NYIS ZYC PT__ Prevaling Torque

Form No. 13660 —_1— Printed in U.S.A.



IMPORTANT: Read instructions before assembling. Bolts should be
finger tight until instructed to tighten according to the torque chart shown
at right. Use standard methods and practices when attaching snowplow

including wearing safety glasses white drilling.
MOUNT FRAME

1.

AS VIEWED FROM

Remove splash shield, air deflector, tow hooks and tapped bars
(inside frame). Retain and reinstall whenever mount is removed from

vehicle.

Place mount frame between vehicle frame rails aligning vertical slots
in mount frame to horizontal slots in vehicle frame. ‘83-"84 truck
bumper brackets may need to be repositioned. On each side, insert

Mount Box No. 62200
INSTALLATION INSTRUCTIONS

Recommended Fastener Torque Chart (Ft.-Lb.)
Size SAE SAE SAE
Grade 2 Grade 5 Grade 8
1/4-20 6 9 13
5/16-18 11 18 28
3/8-16 19 31 46
3/8-24 24 46 68
71614 30 50 75
1/2-13 45 75 115
9/16-12 66 110 165
5/8-11 93 150 225
3/4-10 150 250 370
7/8-9 202 378 591
1-8 300 583 893
Metric Grade 8.8 (Ft.-Lb.)

Size Torgue Size Torque
M 6 7 M12 60
M8 17 M 14 95
M 10 35 M 16 155
These torque values apply to mount assembly fasteners
except those noted in the instruction.

a 3/4” x 2” bolt and flat washer. Retain with a flat washer and locknut

inside vehicle frame.

- ‘94 AND LATER: Align one nut bar inside each vehicle

frame horn over tow hook holes.

On each side, temporarily thread one 7/16” x 1-1/2"
bolt through the center hole in mount frame and tighten
into the nut bars.

Use mount frame as a template to mark front and rear
holes to vehicle frame. Remove mount frame and nut
bars, drill two 1/2” holes on each side through bottom
of vehicle frame. Reattach mount frame with two
7/16" x 1-1/2" cap screws and lock washers into nut
bars on each side.

1994 & Later Vehicles

TEMPORARILY install
bolt through tow hook

hole to mark for drill-
A _ing.

DRIVER SIDE

3/4" x 2" Bolt___{ Nut Bar
Vehicle
~ / Frame
Drill L
7/16" x 1-1/2"
Cap Scre
(Through Mount Frame
drilled holes) L

4,

Form No. 13660

(All Vehicles) Starting with the 7/16” x 1-1/2” bolts:

‘83 THROUGH “93: Align one nut bar
inside each vehicle frame horn over tow
hook holes. On each side, thread two
7/16” x 1-1/2” bolts with lock washers
through 1/2” holes in mount frame and

into the nut bars.

1983 Through 1993 Vehicles

AS VIEWED FROM DRIVER SIDE

3/4" x 2" Boli\\q

~

7/16™ x 1-1/2%
Cap Screw

(Through tow
hook holes)

TIGHTEN ALL FASTENERS ACCORDING TO THE TORQUE CHART.

Mount Frame




COUPLING LUGS
1.

Position the coupling lugs (1” holes) against
the outer set of holes in the front of the mount
frame. (Turning lugs upside down changes
height by 1".)

During installation, allow for drop in vehicle
height when the plow is installed. The final
distance between the coupling lug hole
center to level surface should be 9-1/2” to
10-1/2” with plow attached and resting on a
level surface. (See Coupling Lug Height
Check on page 17.)

Secure each coupling lug with two 1/2” x
1-1/2” bolts and locknuts.

LINK ARM LUGS

1.

Install link arm lugs (3/4” holes) with angled
side in the same position as the angled side
of the coupling lugs. Position the link arm

Link Arm Lug
(3/4" Holes)

] . 1/2" x 1-1/2"
Coupling & Link Arm Lugs A Bolts
r .......
|

t

5-1/2"
Center to
Center

{

9-1/2" to 10-1/2"
Plow Attached &
Resting on Level Surface

|

1/2" x 1-1/2" Bolts

Coupling Lug
\ (1" Holes)

Level Surface

tugs to the top inner holes on the front plates of the mount frame.
NOTE: Center of coupling lug holes to center of link arm lug holes should be 5-1/2".

2. Secure each link arm lug with two 1/2” x 1-1/2” bolts and locknuts.
TIGHTEN ALL FASTENERS ACCORDING TO THE TORQUE CHART AT THE TOP OF PAGE 2.
SHIELD Shield, Splash Guard &
Attach the shield to the front of the mount frame Cover Assembly
main angle with two 5/16” x 1” bolts, flat washers
to shield, and locknuts. Shield e
SPLASH GUARD 516" x 1" — Drill
If Required
Attach front of splash guard to bottom of main Bolts (If Required)
angle on mount frame with two 3/8” x 1" o
self-tapping screws. Attach rear of guard as >
follows: ——
‘85 & Later: Secure to vehicle frame with existing O i
splash guard fasteners. Tighten fasteners 3/8" x 1" )
according to the torque chart on page two. Tapping Cover Existing
‘83 & ‘84: Using the outer rear holes in splash Screw Assembly Fastener or
guard as a guide, drill two 13/32” holes in vehicle 3/8" x 1" Bolt
frame and fasten with two 3/8” X 1" bolts, flat . an
washers and locknuts. Tighten fasteners 5/16" x 1" Cap Splash
according to the torque chart on page two. Screw & Cage Nut Guard
COVER ASSEMBLY

Push cage nut over hole in splash guard with threaded part of cage nut up. Place retaining lip of cover on top
of main angle with instruction label facing down. Fasten cover to splash guard with a 5/16” x 1” cap screw and

flat washer into cage nut.

Continued on next page.

Form No. 13660



M

LINK ARMS

Attach short leg of each link arm,
chamfered side of link arm holes
towards center of vehicle, with offset
as shown in diagram between each
pair of link arm lugs with a

3/4” x 3-1/4” grade 5 rivet and cotter
pin. See diagram for proper
orientation of link arms.

____-_1____(_)___
g

o O

LINK ARMS

. OFFSET BENDS TO THE OUTSIDE |

SHORT LEGS

3/4"X3-1/4"

GRADE 5 RIVET — {1l

NN

N 7=

HARNESS KIT SELECTION

I
318
0 0 o

“LINK ARM LUGS”

Use flasher provided in harness kit or found in mount box dash bracket carton to replace vehicle turn signal

flasher on all vehicles.

Vehicles produced starting in December, 1994 have been equipped with Daytime Running Lights (DRL’s).
Vehicles with DRL’s have a white wire with a blue trace for the ground wire of the driver-side headlamp (dual
lights) or high beam headlamp (quad lights). These vehicles require the use of (61550) 12-Pin Headlamp Kits.

Vehicles with DRL’s
Use Box No. 61550 Headlamp Kit (12-Pin).

For DUAL Type 2E headlamps, use 62535
Harness Kit 2E 12-Pin U -B. See installation
instructions on pages 8 and 9. Wiring diagram is on
page 19.

For QUAD Type HB-3 & HB-4 headlamps, use
61585 Harness Kit HB-3 & HB-4 12-Pin -B. See
installation instructions on pages 10 and 11. Wiring
diagram is on page 20.

For DUAL Type 2B headlamps, use 61555
Harness Kit 2B/2D 12-Pin -B. See installation
instructions on pages 12 and 13. Wiring diagram is
on page 19.

Vehicles without DRL’s
Use Box No. 61540 Headlamp Kit (9-Pin).

For DUAL Type 2E headlamps, use 61575
Harness Kit 2E 9-Pin -C. See instaliation
instructions on page 14. Wiring diagram is on
page 21.

For QUAD Type HB-3 & HB-4 headlamps, use
61515 Harness Kit HB-3 & HB-4 9-Pin -A. See
installation instructions on page 15. Wiring
diagram is on page 22.

For DUAL Type 2B headlamps, use 61545
Harness Kit 2B/2D 9-Pin -A. See installation
instructions on page 16. Wiring diagram is on
page 23.

CAUTION: During electrical installation, THE LONG BATTERY GROUND CABLE
(no stripe) MUST BE GROUNDED TO THE NEGATIVE BATTERY TERMINAL.

NOTE: After 5 to 10 hours of using the snowplow, retorque all mount assembly

fasteners.



Solenoid Control — Floor Mounted
INSTALLATION INSTRUCTIONS

SOLENOID
1. Align the lower dash bracket hole shown in diagram to CONTROL
end hole of control bracket.

NOTE: Top flange of control bracket may be reversed
in dash bracket from position shown in diagram.

CONTROL BRACKET
56308

CABLE CLAMP
Attach with one #8 x 3/8” hex head thread cutting screw 55381
and lock washer on each side.

2. Use top holes in dash bracket (see diagram) as a #8 X 3/8" HEX
template to drill a 9/64” hole in each side of control HEAD THREAD
bracket. CUTTING SCREW

#8 x 5/8" HEX 93157
Secure dash bracket to control bracket HEAD TAppmg\&
with a second screw and lock washer in SCREWS (2) ;
each side. 93154

3. Secure solenoid control to control bracket ~ #10X 1" SHEET HOLE, See step 2
with two #8 x 5/8" hex head tapping ML SCREWS

(4) 90388 HOLE, See step 1
SCrews. #10 LOCK WASHERS

4. Move seat forward. Locate control and (4) 91242 9
bracket assembly on floor tunnel so that it
does not interfere with the operation of #8 X 3/8" HEX
vehicle controls. Mark this location. HEAD THREAD

CUTTING SCREW

5. Remove control bracket from dash (4) 93157
Loossnemmcker  fs,SraneLoc

6. Place dash bracket in marked location. 56080

Use dash bracket as a template to drill
four 1/8” holes in tunnel.

CAUTION: Check for clearance before drilling holes.

Secure dash bracket to tunnel with four #10 x 1” sheet metal screws and lock washers.
7. Reassemble control bracket to dash bracket. Bend top flange of control bracket to desired position.
8. Secure harness to control bracket with cable clamp and one #8 x 3/8” hex head thread cutting screw.

2E HEADLAMP WIRE INSTALLATION DIAGRAMS
(See paragraphs 2 & 3, page 8 or 14)

DRIVER-SIDE VEHICLE CURB-SIDE VEHICLE
HEADLAMP CONNECTOR HEADLAMP CONNECTOR
PLUG-IN Secure wires with electrical
HARNESS tape after insertion.
WIRES
YELLOW | PLUG-IN
GREEN HARNESS -
DARK
LIGHT BLUE BLUE WIRE

Form No. 13660 —5—



Vehicle Underhood

g SAFETY NOTE: Whenever you see this symbol, it notes INSTALLATION INSTRUCTIONS

a SAFETY WARNING. To avoid serious injury to
yourself or others, follow all warnings.

9-Pin Vehicle Harness And Motor Relay
HARNESS, SOLENOID CONTROL & MOTOR RELAY INSTALLATION DIAGRAM
Cable w/ Red

Large Solenoid Control Optional Reversed
22" Red Cabl Terminals s -y iti
ed Cable \ & i\"yb xé Position
‘ A\ Stripe ‘*t +
\ T\ 2d8d [ Hydraulic System \N\¥
y NS {(Motor Relay) )l

I\, Relay - Solenoid 2
0 7 & ON/OFF Switch

’ |
L}
:l 8 x 5/8"
Ground to Battery Negative Post \‘"I;l L ' H?Lo Screw
(On Rev 10 & Later :(lel,a’ #8 X 3/8" Screw =¥ 12
Vehicle Harnesses) g y l 1
Brown/Red | a:— Control Bracket
Firewall 9'

*Orange/Black on
9-Pin Rev. 10 or
12-Pin Rev. 8 & |
later harnesses. w
Earlier revision ‘
harnesses have \Q g 0‘
% 2

black/orange wire Vehicle Harness Red Wire

to motor relay only. 9-Pin or 12-Pin /
C/ -~
R % Self Stripping

_ ‘ /7 ‘ ST
. Fuse Holder Connector (Blue)

Orange/Black* rommet &Y Clan{p

Cable Assembly - Vehicle

(Long Battery Cable Assembly) Sy Connector

Grill Connectors iy
{Mounted or Passed Through Grill) A
(Apply dielectric grease to pin cavities)

Vehicle Wire Controlled by
Ignition (key) Switch

Wires to
Headlamp Relays (See Plug-In
Harness Instructions)

Except as noted, parts to be installed are found in the hydraulics box.

CAUTION: To prevent corrosion on all underhood electrical connections, use
dielectric grease to fill receptacles and lightly coat ring terminals and blades
before assembling, or lightly coat the connections after assembling.

1. Identify wires for the parking lamp on the driver-side and the turn signals on both sides of the vehicle. Attach
a black self-stripping bullet receptacle connector (found in harness kit) to each of these three wires.

OPTION: Identify wires for parking lamps and both turn signals in the main harness behind the driver-side
headlamp. Attach a black self-stripping bullet receptacle connector to each of these three wires.

2. Remove NEGATIVE battery cable from battery.

WARNING: Electrical shock hazard. Disconnect battery before beginning electrical
installation.

3. Find a location for the motor relay where it will be protected from road splash and will be within 18” of the
vehicle primary battery.

NOTE: Motor relay terminals must be up or horizontal.

Using the motor relay mounting plate as a template, drill two 9/32” holes, and mount motor relay to holes
using 1/4” x 3/4” bolts, flat washers, and lock nuts.

4. Route 22" red battery cable between a large motor relay terminal and the POSITIVE battery terminal taking
care to avoid sharp edges, and hot or moving parts. Attach cable to motor relay terminal with a lock washer
and 5/16"-24 jam nut. Attach cable to battery POSITIVE terminal with battery cable adapter (found in mount

box).
5. Stretch rectangular openings of plug cover straps (found in harness kit) over GRILL ’5‘-%
grill connector ends of long battery cable assembly (found in hydraulics box) ~ CONNECTOR '/gy

zmd vehicle harness (found in harness kit). Place plug covers over molds on o, ;6 covER
arnesses.

NN

Form No. 13660 —6—



10.

11.

% 12.

13.
14.

16.

Find a location in the vehicle grill on the battery side for mounting the battery cable grill connector. The best
location is at least 10-1/2” from the center of the grill and at a convenient height for connecting the plow plugs.

Allow grill connector of each harness to hang out in front of grill. Allow enough cable so it is easy to mate and
remove connector. Secure with long cable ties (found in mount box).

Route battery cable through the grill at the selected location and through or around the radiator bulkhead to
motor relay taking care to avoiding sharp edges, and hot or moving parts.

Attach cable with red stripe to the unused large terminal on the motor relay, and secure it with a lock washer
and 5/16"-24 jam nut.

Route cable without stripe directly to the NEGATIVE battery terminal (carefully separate the two cables as
needed to reach the battery). DO NOT attach cable to battery at this time.

Find a location in grill on driver-side for mounting the vehicle harness (similar position to battery cable mount).
See Steps 6 & 7 above for how to mount. Route vehicle harness through grill and around, or through radiator
bulkhead (drill 5/8” hole if needed) into engine compartment.

Route the wires that break out of the vehicle harness to the area behind the driver-side headlamp. Route rest
of harness to the firewall. Drill a 5/8” hole through the firewall in a convenient location away from hot or mov-
ing engine parts.

IMPORTANT: All vehicles with DRL's — insert fuse holder on pink wire of DRL Adapter Kit (P.N. 61584)
through firewall first. Route end of pink wire with receptacles to area of driver-side headlamp.

Feed vehicle harness fuse holder through hole and then feed the plastic connector and harness through to the
cab. Disassembly of the fuse holder may make it easier to pass through 5/8" hole.

Route brown/red and orange/black (early revision harnesses have brown/red and black/orange wires) wire
loom to motor relay. Early revision harnesses must be modified if CabCommand control is being installed.
(See instructions furnished with CabCommand control.)

Attach the brown/red and orange/black (early revisions black/orange) wires small ring terminals to separate
small terminals on motor relay using a lock washer and #10-32 nut for each connection.

Route the orange/black wire with 3/8" ring terminal to the battery negative post (early revision harnesses do
not have this wire). DO NOT attach wire to battery at this time.

Inside the cab, route vehicle harness connector to solenoid or CabCommand control and couple the
connectors together.

Attach the hydraulic unit black battery cable and orange/black wire terminal to the negative terminal with the
furnished battery cable adapter. Reconnect vehicle ground cable to NEGATIVE battery terminal cable adapter.

Locate an accessory wire or unused fuse box terminal capable of carrying 7 amps and controlled by the
ignition (key) switch. Route the vehicle harness SFE-6* fuse holder red wire to this location and trim off any
excess length of wire (keep fuse holder in system).

Fuse block terminal as source: attach a terminal (not furnished) to the vehicle harness red wire and plug on to
fuse box terminal. If DRL wire is used, crimp pink wire into the same terminal with the red wire.

Accessory wire as source: Open blue self stripping connector and place the end of the red wire against the in-
ner groove stop (end of wire must not extend from the connector), and the accessory wire in the outer groove.
Close connector over the wires using a pliers and snap the locking tab in place. Repeat with DRL pink wire.

*Early style harnesses have a 10 amp fuse which must be replaced with SFE-6 fuse for CabCommand Control.

REMINDER: To prevent corrosion on all underhood electrical connections, use DIELECTRIC
dielectric grease to fill receptacles, including grill connectors, and lightly coat ring GREASE -
terminals and blades before assembly or lightly coat connections after assembly. PN 56099 or

PN 49326

Form No. 13660 —7—



PLUG-IN HARNESS &
HEADLAMP RELAY INSTALLATION

Page 8 & 9 instructions are for installing Plug-in Harness on
Chevrolet/GMC vehicles WITH SAE 2E (dual) headlamps & WITH Daytime
Running Lights (DRL’s). Headlamp Kit No. 61550 & Harness Kit No 62535

(See following pages for other types of headlamps)

Existing Curb-Side e
Headlamp Connector _..'"::.;9"‘\\\ i , .
%‘@; \\.(.___..._ Existing Vehicle Wire Harness
Plug-In Harness w’ o
1-Wire Male Plug LV AN
~ o\
RN Existing Driver-Side
\:\ Headlamp Connector
Plug-In Harness N
£ ‘-"//N\\ 3 Loose Wires
! ‘\,.:, with Blade
S " Purple* )
\..J ,‘\‘3\
Plug-In
Harness
Headlamp
Connectors
]
]
k\
Purple*
DRL Kit Pink
Wire Wire with
Curb-Side Connections Fuse Holder
Turn Signal* <o P See he
o NN aragrap Headlamp Relay:
s \T/ SO Purple
‘4] s > .
Alternate Right Turn

Signal Connection
Located Behind
Driver-Side
Headlamp

*Used if curb-side Driver-Side

connector Turn Signal ~ .* § .
Parking

location is used. 3

Bullet Receptacle Connector (Black)

2E DUAL HEADLAMP - PLUG-IN HARNESS & HEADLAMP RELAY
REMINDER: Lubricate all receptacles and blades with dielectric grease before

assembling. Plug-In
1. In the engine compartment behind the driver-side headlamp, insert wire Hwi':::s
bullets from 12-pin vehicle harness into black bullet connectors (installed in
step one of previous section) as follows: Yellow

Brown wire to parking lamp wire on driver-side.

Gray wire to left turn signal wire on driver-side. Light Blue
If alternate bullet connector location is used — vehicle harness purple Driver-Side Vehicle
wire to right turn signal wire on driver-side. Headlamp Connector

2. At the vehicle driver-side headlamp, remove the connector from the headlamp
and couple connector with plug-in harness 3 loose wires with blade terminals
as shown in diagram (plug-in harness found in harness kit). Attach plug-in
harness headlamp connector to headlamp terminals.

3. Route other end of plug-in harness along radiator bulkhead or over radiator Male
shroud to curb-side headlamp. Remove headlamp connector and couple Dark Blue Blade to
connector with plug-in harness dark blue wire with blade terminal as shown in Wire Connector
diagram. Secure connector with a cable tie (found in harness kit). Attach . .
plug-in harness headlamp connector to headlamp terminals. Cdrb-Side Vehicle

Headlamp Connector

Form No. 13660 —8—



SAE 2E (dual) Headlamps & Daytime Running Lights (DRL’s). (Continued)

If alternate right turn signal connector location is used, skip steps 4 &
5. Purple wire in plug-in harness is not used.

4.

10.

On the curb-side, insert purple wire bullet from plug-in harness
into vehicle turn signal black bullet connector installed in step
one of the previous section.

At the driver-side headlamp, insert the purple wire bullet from the
vehicle harness into the purple wire receptacle on the plug-in
harness.

Behind the driver-side headlamp, connect the following blades
and receptacles together:
black/white wire blade to black/white wire receptacle,
yellow and orange wire blade to black wire receptacle,
green wire blade to white wire receptacle.

At driver-side headlamp, connect 12-pin vehicle and plug-in
harness wires with receptacles to the three headlamp relays
{found in harness kit) as shown in the diagrams on this page.

NOTE: The pink wire installed in’paragraphs 11 and 15
(previous section) is used on terminal 86 of each headlamp
relay. The three brown wires of the vehicle harness are not
used in DRL installations.

Place grommet around 12-pin vehicle harness and insert into
firewall hole (also put a grommet in the hole in the radiator
bulkhead if hole was drilled). Use cable ties (found in harness kit)
to secure harnesses, relays and wires away from sharp edges,
and hot or moving engine parts and to prevent accidental
grounding of connections.

Change vehicle flasher with flasher found in contro! bracket
carton in mount box.

Lubricate terminal cavities of both grill connectors with dielectric
grease. Give the dielectric grease tube to vehicle owner for
future lubrication of grill connectors.

Installation instructions continued on page 17.

HEADLAMP RELAY

WIRING DIAGRAM

SAE 2E Headlamps
w/ DRL’s

Dark Blue/Orange

=
87
Pink ng gn Black/
(DRL Kit)y 87A Orange
I
Dark
Blue/White Dark Blue

Curb-Side Headlamp Relay

No Wire

=

87
Pink n% gll Black/
(DRL Kit)} ﬁ Orange

1 s

Red

Green

Vehicle High Beam Headlamp Relay

Light Blue/Orange

| — |
87
Pink IIQ .‘,n

(ORLKit) | W g7a % Black/
o Orange

m

Light

Blue/White / N Light Blue

Driver-Side Headlamp Relay



Page 10 & 11 instructions are for installing Plug-in Harness on Chevrolet/GMC
vehicles WITH SAE HB-3 & HB-4 (quad) headlamps & WITH Daytime Running
Lights (DRL’s). Headlamp Kit No. 61550 & Harness Kit No 61585
(See pages 8 through 16 for other types of headlamps)

~,

of - . .
N . ___.’.\f‘\\\\—‘ Vehicle Wire Harness
Existing Curb-Side ~, ,';?, \\\\
Headlamp Connector (O gl S~
g ] ‘v’j’ SO Existing Driver-Side
4 SO Headlamp Connector
Plug-In Harness ~ \:\ ,C/
Plug-in Harness  Male Connector ~. Rarid
N
~ g
* ~ |
Purple h 7,[.1_4('
1 ! {
|
h~’l4 m ) 'l l
0 ” SR g ] o
L

%)

Plug-In Harness - A «

Headlamp Connectors ~:\\ Qw \
s f

] '~ 1
Purple* \!I 3 44 y /; l}
Wire ‘ /&k
Right Turn Connections — ve /M’Z Headlamp
Signal* See Y X P /" Relay

P
y Paragraph 6 /,///
E APV NCS St~ " Purple
MY VY oS ~
f - ~o~ -
SR’ v
\\?{ SO Alternate Right Turn
bt ~3 So Signal Connection
~

Located Behind
Driver-Side

-
\ Headlam,
& "

12-Pin Vehicle Harness

DY
~H S Bullet Receptacie
Left Turn ~~ ‘j‘ﬁ' Connector (Black)
*Used if curb-side Signal

Parking
connector

location is used.

HB-3 & HB-4 QUAD HEADLAMP - PLUG-IN HARNESS & HEADLAMP RELAYS
REMINDER: Lubricate all receptacles and blades with dielectric grease before assembling.
1. In the engine compartment behind the driver-side headlamp, insert wire bullets from 12-pin vehicle harness
into black bullet connectors (installed in step one of previous section) as follows:

Brown wire to parking lamp wire on driver-side.

Gray wire to left turn signal wire on driver-side.

If alternate bullet connector location is used — vehicle harness purple wire to right turn signal wire on

driver-side.

At the vehicle driver-side headlamp, remove the connectors from the headlamps and couple matching
connectors with two plug-in harness 2-wire male plugs (plug-in harness found in harness kit). Attach two
plug-in harness headlamp connectors to headlamp terminals.

Route other end of plug-in harness along radiator bulkhead or over radiator shroud to curb-side headlamps.
Remove two headlamp connectors and secure connectors with a cable tie (found in harness kit). Attach two
plug-in harness headlamp connectors to headlamp terminals.

— 10—



SAE HB-3 & HB-4 (quad) headlamps & Daytime Running Lights (DRL’s). {Continued)

If alternate right turn signal connector location is used, skip steps 4
& 5. Purple wire in plug-in harness is not used.

4.

10.

On the curb-side, insert purple wire bullet from plug-in harness
into vehicle turn signal black bullet connector installed in step
one of the previous section.

At the driver-side headlamp, insert the purple wire bullet from
the vehicle harness into the purple wire receptacle on the
plug-in harness.

Behind the driver-side headlamp, connect the following blades
and receptacles together:
black/white wire blade to black/white wire receptacle,
yellow and orange wire blade to black wire receptacle,
green wire blade to white wire receptacle.

At the driver-side headlamp, connect 12-pin vehicle and
plug-in harness wires with receptacles to the three headlamp
relays (found in harness kit) as shown in the diagram on this
page.

NOTE: The pink wire installed in paragraphs 11 and 15
(previous section) is used on terminal 86 of each headiamp re-
lay. The three brown wires of the vehicle harness are not
used in DRL installations.

Place grommet around 12-pin vehicle harness and insert into
firewall hole (also put a grommet in the hole in the radiator
bulkhead if hole was drilled). Use cable ties (found in harness
kit)} to secure harnesses, relays and wires away from sharp
edges, and hot or moving engine parts and to prevent
accidental grounding of connections.

Change vehicle flasher with flasher found in control bracket
carton in mount box.

Lubricate terminal cavities of both grill connectors with
dielectric grease. Give the dielectric grease tube to vehicle
owner for future lubrication of grill connectors.

Installation instructions continued on page 17.

—11 —

HEADLAMP RELAY
WIRING DIAGRAM
SAE HB-3 & HB-4

Headlamps w/ DRL'’s
Light Blue/Orange
| —|
\ 87
Pink II@ mII
(ORL Kit)| M5/ g7 © Black/
“\o Orange
@
Light
Blue/White 7 Light Blue

High Beam Headlamp Relay

No Wire
| — |
87
Pink “8 gn Black/
(DRL Kit)] /ﬁ Orange
1 Ik
Red
\Green

Vehicle High Beam Headlamp Relay

Dark Blue/Orange

==
87
Pink ng gn Black/
(DRL Kit)| 87A Orange
7k
Dark /
Blue/White N Dark Blue

Low Beam Headlamp Relay



Page 12 & 13 instructions are for installing Plug-in Harness on Chevrolet/GMC
vehicles WITH SAE 2B (dual) headlamps & WITH Daytime Running Lights
(DRL’s). Headlamp Kit No. 61550 & Harness Kit No 61555

(See pages 8 through 16 for other types of headlamps)

Existing Curb-Side RN
Headlamp Connector _..;,.("«;’; \\\% Existing Vehicle Wire Harness
Plug-in Harness hiv” )r’ \: ~
1-Wire Male Plug f 3! NS
’ NN
RN Existing Driver-Side
N>\ Headlamp Connector
/\: Plug-In Harness ~X P
_ 3 Wire Male Plu N ‘ e
T~ ’/ g \\\ / /
RN O i
~ \ re
] N2 SO
l\\ 1 ~ 3;},1']-1 '
~o ll FQY’X/ 'l, Q\\\
~4 . Kt J "
Plug-In P lh'
Harness . '1 1
Headlamp p ~ !
Connectors 7 11
]
]
G ol
Purple* / DRL Kit Pink
Wire AL y i} Wire with
Connections / Q! Fuse Holder
Curb-Side See <3
Turn Signal* -~ ; M
_@/ NN Paragraph 6 g PR Headlamp Relays
[y . \\\\ /
VS \T -~ N P Purple

Alternate Right Turn
Signal Connection
Located Behind
Driver-Side
Headlamp

R ”
Ry T
*Used if curb-side . . . r‘: N v
connector Driver-Side RS Bullet Receptacle Connector (Black)
Turn Signal —

location is used. ~3J Parking

12-Pin Vehicle Harness

2B DUAL HEADLAMP — PLUG-IN HARNESS & HEADLAMP RELAY
REMINDER: Lubricate all receptacles and blades with dielectric grease before assembling.

1. In the engine compartment behind the driver-side headlamp, insert wire bullets from 12-pin vehicle harness
into black bullet connectors (installed in step one of previous section) as follows:

Brown wire to parking lamp wire on driver-side.

Gray wire to left turn signal wire on driver-side.

If alternate bullet connector location is used — vehicle harness purple wire to right turn signal wire on
driver-side.

2. Atthe vehicle driver-side headlamp, remove the connector from the headlamp and couple connector with
plug-in harness 3-wire male plug (plug-in harness found in harness kit). Attach plug-in harness headlamp
connector to headlamp terminals.

3. Route other end of plug-in harness along radiator bulkhead or over radiator shroud to curb-side headlamp.
Remove headlamp connector and couple connector with plug-in harness 1-wire male plug. Secure connector
with a cable tie (found in harness kit). Attach plug-in harness headlamp connector to headlamp terminals.

—12—



SAE 2B (dual) Headlamps & Daytime Running Lights (DRL’s). (Continued)

If alternate right turn signal connector location is used, skip steps 4 & 5.
Purple wire in plug-in harness is not used.

4,

10.

On the curb-side, insert purpie wire bullet from plug-in harness into
vehicle turn signal black bullet connector installed in step one of the
previous section.

At the driver-side headlamp, insert the purple wire bullet from the
vehicle harness into the purple wire receptacle on the plug-in
harness.

Behind the driver-side headlamp, connect the following blades and
receptacles together:

black/white wire blade to black/white wire receptacle,

yellow and.orange wire blade to black wire receptacle,

green wire blade to white wire receptacle.

At driver-side headlamp, connect 12-pin vehicle and plug-in
harness wires with receptacles to the three headlamp relays (found
in harness kit) as shown in the diagrams on this page.

NOTE: The pink wire installed in paragraphs 11 and 15 (previous
section) is used on terminal 86 of each headlamp relay. The three
brown wires of the vehicle harness are not used in DRL
installations.

Place grommet around 12-pin vehicle harness and insert into
firewall hole (also put a grommet in the hole in the radiator
bulkhead if hole was drilled). Use cable ties (found in harness kit) to
secure harnesses, relays and wires away from sharp edges, and
hot or moving engine parts and to prevent accidental grounding of
connections.

Change vehicle flasher with flasher found in control bracket carton
in mount box.

Lubricate terminal cavities of both grill connectors with dielectric
grease. Give the dielectric grease tube to vehicle owner for future
lubrication of grill connectors.

Installation instructions continued on page 17.

— 13—

HEADLAMP RELAY
WIRING DIAGRAM
SAE 2B Headlamps

w/ DRL’s
Dark Blue/Orange
| — |
87

Pink ng gll Black/
(DRL Kit) 87A Orange

3

Dark

Blue/White Dark Blue

Curb-Side Headlamp Relay

No Wire

| — |
87

Pink Ilg gn
(ORL Kit) /ﬁ
lo
(o]

/]
\ Green

Red
Vehicle High Beam Headlamp Relay

Black/
Orange

Light Blue/Orange

| — |
87
Pink Il«, .,,[l
(ORLKity] MS/ g74 © Black/
o Orange
(5]
Light
Blue/White \
\ Light Blue

Driver-Side Headlamp Relay



Page 14 instructions are for installing Plug-in Harness on Chevrolet GMC
vehicles WITH SAE 2E (dual) headlamps & WITHOUT Daytime Running
Lights (DRL’s). Headlamp Kit No. 61540 & Harness Kit No 61575

(See pages 8 through 16 for other types of headlamps) HEADLAMP RELAY

Plug-In Harness Y o~~~ Existing Curb-Side
Dark Blue Wire ;,-.;,’n;-:’)"\:\ Headlamp Connector WIRING DIAGRAM
Blade Wy ¥ AN ) ) Type-C
/4,, > Vehicle Wire Harness
See Page 5 Plug-In Harness N2> Black
Plug-In Harne\ss e Existing Driver-Side —
.39 3-Loose Wire \::\ Headlamp Conegtor 87
L T.P Blade Terminals — /// Brown “8 gn c?lack/
~d Purple* \\ /ﬁ range
‘ o
. IE
Plug-In Harness gra Orange
Headlamp Connectors Fool 8 o
~ A Yellow

Low Beam Headlamp Relay

Purple®
Curb-Side Low Beam White
Turn Signal” Headlamp —
High Beam Relay 87
- Headlamp
s el
LN Brown nco R n Black/
3 Alternate Right Turn 87A Orange
Signal Connection
9-Pin Vehicle Harness G Lgocated Behind “8
ra . -
*Used if curb-side y Driver-Side
connector ; N Bullot R Headlamp Red Green
location is used.  priver-Side 1S ullet Receptacle ;
Turn Signal '\\3} Connector (Black) High Beam Headlamp Relay

Parking
2E DUAL HEADLAMP - PLUG:-IN HARNESS & HEADLAMP RELAYS

REMINDER: Lubricate all receptacles and blades with dielectric grease before assembling.

1. In the engine compartment behind the driver-side headlamp, insert wire bullets from 9-pin vehicle harness into
black bullet connectors (installed in step one of previous section) as follows:

Brown wire to parking lamp wire on driver-side.

Gray wire to left turn signal wire on driver-side.

if alternate bullet connector location is used — vehicle harness purple wire to right turn signal wire on
driver-side.

2. At the vehicle driver-side headlamp, remove the connector from the headlamp and couple connector with
plug-in harness 3 loose wires with blade terminals as shown on bottom of page 5 of these instructions (plug-in
harness found in harness kit). Attach plug-in harness headlamp connector to headlamp terminals.

3. Route other end of plug-in harness along radiator bulkhead or over radiator shroud to curb-side headiamp.
Remove headlamp connector and couple with dark blue wire blade as shown on bottom of page 5. Secure
connector with a cable tie (found in harness kit). Attach plug-in harness headlamp connector to headlamp
terminals.

If alternate right turn signal connector location is used, skip steps 4 & 5. Purple wire in plug-in harness is not used.

4. On the curb-side, insert purple wire bullet from plug-in harness into vehicle turn signal black bullet connector
installed in step one of the previous section.

5. Atthe driver-side headlamp, insert the purple wire builet from the vehicle harness into the purple wire
receptacle on the plug-in harness.

6. At driver-side headlamp, connect 9-pin vehicle and plug-in harness wires with receptacles to the two headlamp
relays (found in harness kit) as shown in the above diagram.

7. Place grommet around 9-pin vehicle harness and insert into firewall hole (also put a grommet in the hole in the
radiator bulkhead if one was drilled). Use cable ties (found in harness kit) to secure harnesses, relays and
wires away from sharp edges, and hot or moving engine parts and to prevent accidental grounding of
connections. .

8. Change vehicle flasher with flasher found in control bracket carton in mount box.

9. Lubricate terminal cavities of both grill connectors with dielectric grease. Give the dielectric grease tube to

vehicle owner for future lubrication of grill connectors. Installation instructions continued on page 17.
Form No. 13660 — 14—



Page 15 instructions are for installing Plug-in Harness on ChevroletGMC
vehicles WITH SAE HB-3 & HB-4 (quad) headlamps & WITHOUT Daytime

Running Lights (DRL’s). Headlamp Kit No. 61540 & Harness Kit No 61515

h 16 f
Existing Gurb-Side (See pages 8 through 16 for other types of headlamps)

= HE
Headlamp Connectors .--.ﬁ\':‘ ~JN«— Vehicle Wire Harness ADLAMP RELAY
oAt NS ) WIRING DIAGRAM
rtff ~>/ SN Existing Driver-Side Type — A
vt SO Headlamp Connectors
- .‘f Plug-In Harness ™ Black
~, ) ~
l:\ - / Male Connectors S~ oy —
N {‘\ 87
. Brown O 0 Black/
Harness 87A «© Orange
Plug-In Harness o
Headlamp RO P
Connectors o,
\\s “ {\‘ fo] N
~ range Yellow
Low Beam Headlamp Relay
Right Turn
Signal* Headlamp White
Purple* " poja Relay
20 y ==
I ~ N 87
\\ " \:\\ urple
~ i ~ < Brown nfég gn Black/
. . SOs // P Alternate Right Turn 87A Orange
9-Pin Vehicle Harness - -~ Gray Signal Connection -
L S & & Located Behind a
%, (S0 rown Driver-Side
2 Bullet Receptacle  Headlamp Red
Left Turn ~ i: Connector (Black) Green
High Beam Headlamp Relay

Signal

Parking
HB-3 & HB-4 QUAD HEADLAMP - PLUG-IN HARNESS & HEADLAMP RELAYS

REMINDER: lubricate all receptacles and blades with dielectric grease before assembling.

1. In the engine compartment behind the driver-side headlamp, insert wire bullets from 9-pin vehicle harness into
black bullet connectors (installed in step one of previous section) as follows:

Brown wire to parking lamp wire on driver-side.

Gray wire to left turn signal wire on driver-side.

If alternate bullet connector location is used — vehicle harness purple wire to right turn signal wire on
driver-side.

2. Atthe vehicle driver-side headlamp, remove the connectors from the headlamps and couple matching
connectors with two plug-in harness 2-wire male plugs (plug-in harness found in harness kit). Attach two
plug-in harness headiamp connectors to headlamp terminals.

3. Route other end of plug-in harness along radiator bulkhead or over radiator shroud to curb-side headlamps.
Remove headlamp connectors and secure connectors with a cable tie (found in harness kit). Attach two plug-in
harness headlamp connectors to headlamp terminals.

If alternate right turn signal connector location is used, skip steps 4 & 5. Purple wire in plug-in harness is not used.

4. On the curb-side, insert purple wire bullet from plug-in harness into vehicle turn signal black bullet connector
installed in step one of the previous section.

5. At the driver-side headlamp, insett the purple wire bullet from the vehicle harness into the purple wire
receptacle on the plug-in harness.

6. At the driver-side headlamp, connect 9-pin vehicle and plug-in harness wires with receptacles to the two
headlamp relays (found in harness kit) as shown in the above diagram.

7. Place grommet around 9-pin vehicle harness and insert into firewall hole (also put a grommet in the hole in the
radiator bulkhead if one was drilled). Use cable ties (found in harness kit) to secure harnesses, relays and
wires away from sharp edges, and hot or moving engine parts and to prevent accidental grounding of
connections. ‘

8. Change vehicle flasher with flasher found in control bracket carton in mount box.

9. Lubricate terminal cavities of both grill connectors with dielectric grease. Give the dielectric grease tube to
vehicle owner for future lubrication of grill connectors. Installation instructions continued on page 17.
— 15 —



Page 16 instructions are for installing Plug-in Harness on Chevrolet/GMC
vehicles WITH SAE 2B (dual) headlamps & WITHOUT Daytime Running

Lights (DRL’s). Headlamp Kit No. 61540 & Harness Kit No 61545
(See pages 8 through 15 for other types of headlamps)

é"‘ \\
Existing Curb-Side “’f’{;’ \\:—\————— Vehicle Wire Harness HEADLAMP RELAY
Headlamp Connector Yxy” ~Se L . . WIRING DIAGRAM
l':lv . SIN Existing Driver-Side Tvpe — A
Plug-In Harness  “\.~ So Headlamp Connector yp
Black

LN Plug-In Harness
R Male Connector
l\\

Purple®
Plug-In Harness
Headlamp Connectors O

| —— |
87
Brown ng '-Dn Black/
ﬁ «© Orange
|I o
)

Orange

Purple* Yeliow

) Low Beam Headlamp Relay
Right Turn

Headlamp White

. | Relay oy
ot Purple © 87 o Black!
~3 Alternate Right Turn  Srown "00 STA oon Or:r(:ge
Signal Connection
Located Behind [=}
Driver-Side ©®
4 Brown Headlamp
*Used if curb-side N9 AN Red Green
connector ! \\ Bullet Receptacle .
location is used. Left Turn ~. .:-'\ Connector (Black) High Beam Headlamp Relay

Signal e Parking

2B DUAL HEADLAMP — PLUG-IN HARNESS & HEADLAMP RELAYS
REMINDER: Lubricate all receptacles and blades with dielectric grease before assembling.

1. In the engine compartment behind the driver-side headlamp, insert wire bullets from 9-pin vehicle harness into
black bullet connectors (installed in step one of previous section) as follows:

Brown wire to parking lamp wire on driver-side.

Gray wire to left turn signal wire on driver-side.

If alternate bullet connector location is used - vehicle harness purple wire to right turn signal wire on
driver-side.

2. At the vehicle driver-side headlamp, remove the connector from the headlamp and couple connector with
plug-in harness 3-wire male plug (plug-in harness found in harness kit). Attach plug-in harness headlamp
connector to headlamp terminals.

3. Route other end of plug-in harness along radiator bulkhead or over radiator shroud to curb-side headlamp.
Remove headlamp connector and secure connector with a cable tie (found in harness kit). Attach plug-in
harness headlamp connector to headlamp terminals.

If alternate right turn signal connector location is used, skip steps 4 & 5. Purple wire in plug-in harness is not used.

4. On the curb-side, insert purple wire bullet from plug-in harness into vehicle turn signal black bullet connector
installed in step one of the previous section.

5. At the driver-side headlamp, insert the purple wire bullet from the vehicle harness into the purple wire
receptacle on the plug-in harness.

6. At driver-side headlamp, connect 9-pin vehicle and plug-in harness wires with receptacles to the two headlamp
relays (found in harness kit) as shown in the above diagram.

7. Place grommet around 9-pin vehicle harness and insert into firewall hole (also put a grommet in the hole in the
radiator bulkhead if one was drilled). Use cable ties (found in harness kit) to secure harnesses, relays and
wires away from sharp edges, and hot or moving engine parts and to prevent accidental grounding of
connections. ’

8. Change vehicle flasher with flasher found in control bracket carton in mount box.

9. Lubricate terminal cavities of both grill connectors with dielectric grease. Give the dielectric grease tube to

vehicle owner for future lubrication of grill connectors. Installation instructions continued on page 17.
Form No. 13660 — 16—



OPERATIONAL TESTS
OPERATIONAL TESTS AND ADJUSTMENTS AND ADJUSTMENTS

Mount plow assembly to vehicle. (See label on back of blade or owner’'s manual
for mounting instructions.)

Filing Hydraulic Unit
. Push lift channel all the way down. Fill Plug
2. Remove fill plug and fluid level plug.

3. Fill unit through fill plug hole until fluid runs out of fluid level plug hole.
Replace both plugs.
Use: automatic transmission fluid (ATF) Dexron Ill to -10° F (-23° ¢), Fluid Level Plug
WESTERN® High Performance Fluid to -25° F (-32° C),
Texaco 1537 Aircraft Hydraulic Qil for temperatures below -25° F (-32° C).

4. Turn ignition (key) switch to the ON or ACCESSORY position.
5. Turn the control ON/OFF switch to the ON position.

6. Move control lever to angle left and angle right several times to remove air from Hydra-Turn® rams. DO NOT
raise blade as this may cause pump cavitation.

7. Refill unit with fluid following the procedure in step three of this section.

8. Move the control lever as indicated on label to control the plow. Raise and lower plow several times to
remove air. Recheck fluid level according to step three of this section.

Capacity: Solenoid ISARMATIC® Mark llla reservoir  1-3/4 quarts
Equipped with 10” Hydra-Turn rams 2-3/8 quarts
Equipped with 6" Hydra-Turn rams 1-7/8 quarts

A WARNING: To prevent accidental movement of plow, always turn the solenoid
control to the OFF position when not using the mounted plow.

Blade Drop Speed Adjustment

The quill on the top rear of the valve manifold (see diagram) adjusts blade drop speed.
Turn quilt IN (clockwise) to decrease drop speed.
Turn quill OUT (counterclockwise) to increase drop speed.
NOTE: Turning quill too far in can slow raise time

COUPLING LUG HEIGHT CHECK I COUPLING LUG HEIGHT CHECK

1. Mount plow to vehicle (see label on back of blade or owner's manual
for mounting instructions). See selection list for reccommended Center Of
ballast requirements. Coupling

2. Lift blade and move vehicle a minimum of 10 feet. Lower blade. Lug Hole

3. After step 2, with: blade on level surface, (Hitch Pin)

slack in lift chain,
rear ballast located behind rear wheels,

the center of the coupling lug holes (hitch pin shaft) to level surface 9-1/2" To 10-1/2"

should measure 9-1/2" to 10-1/2". To obtain height, there are two
. / & Level Surface
options:
H

1. Both coupling lugs and link arm lugs may be turned over to eight With Plow Attached
change height 1". And Blade On Level Surface

2. Adjust torsion bar suspension. Alternate driver- and curb-side torsion bar adjustments for uniform height
change. After each series of adjustments, repeat steps 2 and 3.

NOTE: Coupling height must be 9-1/2" minimum to allow stand to be pinned to lift frame.

4. Adjust chain slack with plow mounted to vehicle, and lift channel pushed all the way down. To adjust, remove
chain from hook. Straighten chain and pull tight. Rehook it to the lift channel. After it is hooked, it will have
the correct amount of slack for blade “float”. DO NOT remove chain from lift channel when removing plow
from vehicle.

Quill

Form No. 13660 —_—17 —



I FINAL HYDRAULIC INSPECTION

FINAL HYDRAULIC INSPECTION
1. Make sure all fasteners and hydraulic and electrical connections are tight.

2. Check ram packing nuts for oil leakage. i any leakage is observed, tighten the packing nut 1/4 turn after you
feel the nut contact the packing. Do not overtighten — overtightening affects cylinder operation and shortens
the life of the packing. A short period of normal operation will allow chevron packings to become saturated,
and leakage will normally stop.

l VEHICLE LIGHTING CHECK

VEHICLE LIGHTING CHECK
1. Check the operation of vehicle and plow lights with plow mounted to vehicle and both plow plugs connected.
Turn signals and parking lamps

Parking lamps ON Both vehicle and plow parking lamps should be on at the same time.

Right turn signal ON Both vehicle and plow right turn signal lamps should flash at the same time.

Left turn signal ON Both vehicle and plow left turn signal lamps should flash at the same time.
Headlamps

Move vehicle headlamp switch to the ON position. Connecting and disconnecting the 9 or 12-pin plow plug
from the grill connector should switch between vehicle and plow headlamps as follows:

9 or 12-pin plow plug DISCONNECTED  Vehicle headlamps should be on, plow headlamps off.
9 or 12-pin plow plug CONNECTED Plow headlamps should be on, vehicle headlamps off.

Dimmer switch should dim whichever headlamps are operating. The high beam indicator on the dash
should light when either set of headlamps is on high beam.

i%i Solehoid Control or CabCommand Control

9-pin vehicle harness revision 10 and later or
12-pin vehicle harness revision 8 and later or
9 or 12-pin vehicle harnesses — earlier revisions modified for CabCommand Control:

The control indicator light should light whenever the control ON/OFF switch and the ignition (key)
switches are both turned ON. The plow plugs do not need to be connected to the grill connectors.

Solenoid Control used with earlier revision harnesses

9-pin revision 7, 8, or 9 vehicle harnesses or
12-pin revision 5, 6, or 7 vehicle harnesses:

The control indicator light should light whenever the control ON/OFF switch and the ignition (key)
switches are both turned ON and the plow plugs are connected to the grill connectors.

9 or 12-pin vehicle harnesses — all earlier revisions:

The indicator light will also light when the control and ignition (key) switches are on the plow plugs are
disconnected. If the parking lights are turned on (with plug plugs disconnected), the indicator light will
go out.

2. Connect plow plug to grill connector. Raise plow and aim plow headlamps according to SAE J599 Lighting
Inspection Code (See Service Bulletin SP 608) and any applicable federal, state, or local regulations.

3. Check aim of vehicle headlamps with plow removed.

4. When plow is removed from the vehicle, install plug covers on grill connectors and insert the plow plugs into
the boot on the hydraulic unit.

NOTE: After using the snowplow for 5-10 hours, retorque all mount assembly fasteners. |

Form No. 13660 — 18 —



I
-
«©

I

Headlamp Kit 12-Pin P.N. 61550, Harness Kit 2E U-B
P.N. 62535 Installation Instructions page 8 & 9

Solenoid Control — 12-Pin Vehicle Harness Revision 8 & later - The control indicator light will light whenever
the control ON/OFF switch and the ignition (key) switch are both turned ON. The plow plugs and grill connectors
do not need to be connected for the control light to be on.

S8 Y S TEM

ount.

Wiring Diagram
Harness Type - B

@ R | g’ ------ zz;z“ ,g TURN s.fm—I— 10 VEHIGLE w/ 12 Pin Headlamp Kit
BR—e=—1 1| A k > L PARK |- HEADLIGHT
PLOW LIGHT r g2 @_ .. INDICATOR LIGHT ) CONNECTOR SAE Type 2E c;; rZB Headlamps
CURB-SIDE (CU) ? [22%] .. conscart, vave assy Low
. _CONNECTION z HIGH ChevroletGMC
= DKBL/W GROUND T : :
...... _ . _REVISION 1-7 HARNESSES E ] d!— r'.l —i L 1 VehlcleS with
DKBL/O ~ CU (Control, Motor Reloy, & o § X |||||.o/e|( o |— = DRL’s
LTBL/O ~ DR Headlomp Reloys Ground X / A} BATTERY
(GROUND) Through Grill Connector) Rev 8 + : X
\,——/ P \ | L CCESSORY WIRE
: . Al wi
2 /C) §é , e e ——
= )
W (HIGH BEAM) / - / Rey 1~7 Rey 8 + 9’ SFE-6 Rey 7 +
lll - : IGNITION SWITCH 10 A Rov 1-6
W,
BK - CuU o —/;K 5 0/BK Rey (8 +
BK/W - DR + S ~LTGR
(LOW BEAM) 1 MOTOR g % -B;/o BK/O 4--BK/O-- ==} nm-- BK/O Rey[1-7-------
—LTBL
Y rR——4-8r4—pr—{ BROWN | A DIODE
= WIRES NOT USED | ""Rev 5-7
o °O0 00 CURB-SDE | !
. & GYPU- _ P O 00 RELAY E o \
DKBL/0 | + _—1 LLLTBL/O i >>
BR 4
VALVE MANIFOLD\ §g I rlv X L pY —=—PyY g H
w/Y . E‘{ Q Lo(‘)oooo -Gy DKBL g ly 7
‘| =t 1T IR 1T - ;
1 I wv ™ DKBL
\ I K] L DKBL/O DKBL /0. : o
LTGR | L16R- — BR/W BK/W‘h '
L LTBL~—y LTBL- 5 :
2 %l = B/0— | | 1 VE(I;-IICLE
\ A t HIGH
A BK76"'§LL:cc§ /ORANGE STRIPE §§, “'7 EEALXY RpiSE
BX70.. .. W I !
..... BLUE | ! % . &
g:'ﬁ.'_'_':anowu W/RED STRIPE ) K o0&k 3
BRbL - DA BudE 1 o 2L Lw
DKBL/O. DARK BLUE W/ORANGE STRIPE % X3
DKBL/W. -DARK BLUE W/WHITE STRIPE 1 | 0 ik — o
3 6ol Sar St o= LLQ_U LOWER
- =
PLOW LIGHT &l LTBL., .. _LIGHT BLUE S o ))_ ] : DRIVER-SIDE
DRIVER-SIDE (DR) § | | LTBL/OZLIGHT BLUE W/ORANGE STRIPE 0o——4b os/y < |lere i RELAY <1 @
BR_=__* LTBL/W_ _LIGHT BLUE W/WHITE STRIPE n LTBL/W LTBL 1 d W
[£5 | LGR  LGHT GREE =Lr ™ a7 e—pH-Lm—
R“—‘=“:|‘+ 075K . TORANGE W/BLACK STRIPE 5 & SOLENOID CONTROL (STYLE 2)
BR—e= o AN PARK— — | b v w170 VEHICLE
! x L—6 HIGH  |HEADLIGHT
\=L1urn sionaL 4 DRL KIT WIRE
- -LTBL-| GROUND | CONNECTOR
l PK e L2l

Vehicle harnesses — 12 pin, P.N. 61557, rev. 5, 6, or 7 — The indicator light on the

solenoid control will only light when the plow is attached to the vehicle and the ignition

switch and control on/off switch are both turned on.

Vehicle harnesses with revision numbers prior to listed revisions at right — The indicator light wili also be

on when the control and ignition (key) switches are ON and the plow plugs are disconnected. If the

parking lights are turned on (with plow plugs disconnected), the indicator light will go out.



Headlamp Kit 12-Pin P.N. 61550, Harness Kit HB-3 & HB-4 U -B P.N. 61585 Installation Instructions page 10 & 11

Solenoid Control — 12-Pin Vehicle Harness Revision 8 & later - The control indicator light will light whenever
the control ON/OFF switch and the ignition (key) switch are both turned ON. The plow plugs and grili connectors

do not need to be connected for the control light to be on.

S Y S TEMWM

ount.

Wiring Diagram
Harness Type - B

- C SWITCH Em?cm -—— . .
\v DIODE w/ 12 Pin Headlamp Kit
PLOW LIGHT @ ... .nocaror gt E HB-3 & HB-4 -B for DRL
CURB-SIDE (CU) 271 _ . _cowscart. vave assy Q‘_B'b/"‘“' Installations
-
—— == . _CONNECTION < . )
------ _._REVISION 1-7 HARNESSES |[E——R 1
- (Control, Motor Reloy, & %BL ] + - =
PO - BR Heodlomp Relays Ground A ll|-o/ex — B“’ I_ BATTERY | -
(GROUND) Through Grill Connector) > o Rev 8 + ¢ \
i | motor €
©| RELAY &
\\_’_ @) /G)> § gg -~ ACCESSORY WIRE
= & Rev 1-7 S !
-~ td
e | Rey 8 + 9’ SFE-6 Rey 7 +
. : IGNITION SWITCH 10 A Rev 1-6
J. o i
BK -~ cU \ - & ~BK ' 0/EK Rey |8 +
BK/W - DR T S ~LTGR L
(LOW BEAM) 1 MOTOR 2 x _[Exfo BK/0 4 --BK/O- -~ nnnn BK/O Rey| 1-7 =======
[~ | Lord-pe-d :
BR——+BR-4~BR '
LIBL/0 — LY XXX BROWN WIRE | A DIODE
! Y — 00 0 NOT USED *Rey 5-7 .
AY GY - — :
T DKBL/0 4+ _—1 L Lim/o /o | [ : b >>
BR
VALVE MANIFOLD Lot (¢ .%l X P alimm—— M et HE.
5}{ ) Un 0000 - GY a : ! BEAM .,
w/Y 1 @ > n LTBL 870 . N
-l =13 T 1K R B b ar wd RELAY
‘\ i Y L pKBL/O l, T g
! LTGR - Br/W BR/W — o
LTBL -~ NS
! Bk/0- _l 54"'5 g
BK_ _._ _BLACK
BK/O CBLACK W/ORANGE STRPE é % | VEHICLE RYiSE
..... -3 1 [ HIGH &£
BR- - " “BRown z -3 1 | BEAM ¥
BR/R."._BROWN W/RED STRIPE & | I 2 | RELAY 5
DKBL . - - 'DARK BL ~ X £ 2 Lw
DKBL/0_ DARK BLUE W/ORANGE STRIPE o \ o & 1
DKEL/W_ -DARK BLUE W/WHITE STRIPE Y 1 ' — o
S| Gzzon g piak w s Ui owe
PLOW LIGHT & LTBL .. .LIGHT BLUE :
DRIVER=SIDE (DR) & | | LTBL/0 ZLIGHT BLUE W/ORANGE smpe ° ) - @
(Eym—iy | (B B Ho l ’- Low seau < /
R —= O7BK. . ORANGE W/BLACK STRIPE BL/W 5 DRBLw RELAY SOLENOID CONTROL (STYLE 2)
@“*- L _I_DKBL/O —LTBL —] SROUND
I G TO VEHICLE
| I RED -
R—¢=J zﬁ""mnm: WNELLOW STRIPE :éE 5 L bkeL— | HEADLIGHT DRL KIT WIRE
YT TYELOW TURN SIGNAL ——— v chuou CONNECTORS o J._ES_APK_

Vehicle harnesses — 12 pin, P.N. 61557, rev. 5, 6, or 7 — The indicator light on the solenoid
control will only light when the plow is attached to the vehicle and the ignition switch and

control on/off switch are both turned on.

Vehicle harnesses with revision numbers prior to listed revisions at right — The indicator light will also be
on when the control and ignition (key) switches are ON and the plow plugs are disconnected. [f the
parking lights are turned on (with plow plugs disconnected), the indicator light will go out.



Headlamp Kit 9 -Pin P.N. 61540, Harness Kit 2E U -C P.N. 61575 Installation Instructions page 14

Solenoid Control — 9-Pin Vehicle Harness Revision 10 & later - The control indicator light will light whenever
the control ON/OFF switch and the ignition (key) switch are both turned ON. The plow plugs and grill connectors
do not need to be connected for the control light to be on.

8 Y S TEM

ount.

Wiring Diagram
Harness Type - C
w/ 9 Pin Headlamp Kit

_| o...... SWITCH TURN SGNAL— = = — 10 VEHICLE & SAE Headlamp Types
- 3 V..o DIODE \ A |- —  HEADLIGHT 2B/2D
&3 @ _____wocaror uer ? CONNECTOR oF
PLOW LIGHT @_.:_P (2] .. con/cart wnve asst | ow. HB-1 (9004)
CURB-SIDE 3 —— =2 _ _CONNECTION gnxm. DxBL—| GROUND -t y |
------ - - -REVISION 1-9 HARNESSES + =1 ==
{Control, Molor Reloy, & o '|l||'°/B( ” i A B o |— BATTERY | =
BK/0 (GROUND) Headiomp Reioys Ground Rey 10 + ¢ I
mfw Gritt ' 1
~ + | motoR £
o| rREar &
I 5 + ~__ACCESSORY WIRE
Rey 1-9§ ‘
\ / - / - ' Rev 10 + e’
~ — . IGNITION SWITCH
w :
(Low BEAu) III /;(ucn : O/BX Rev|i0 +
! +MOTOR —:Ii-‘l'(ﬂl.o BX/0 '+'B(/0 ------------ BK/0 Rev
w L}
| [ A\ DIoDE
N > &6 " Rey 7-9
i H—s- == :
~ - o
& oY _— — L e ‘."-.
o BR Y
VALVE MANIFOLD N 58 Lpy——=—Py % L]
W/ & (-3 20609 -~ GY o0
-l ! ¥ I & g S
| w/y- .
\ B '
LICR i LTGR :
Q LTBL. T LTBL - -
BK/0~ !
L'%' G " s
Bx/0 —/L-Bc/0-
_i.y- RAISE
Ve : P om—
=~ H 3
\ 1 . %¥ i Lw
p BX__ ... :
= BK70..._BLACK W/ORANGE STRIPE :
= Bl H - ._—ﬂ &C
- SBR_ ... o - k. L
e | 04 || BB e R —
DRIVER-SIDE P | I Tue e R ~ s dJ
! 5 LTGRL. . . CLIGHT GREEN —G
S 1| Sae O wmcx smee 5 & SOLENOID CONTROL (STYLE 2)
@‘—': [| 5o '% | - ~Y—] L% |10 VEHICLE
w7v :Y"E.Lm W/YELLOW STRIPE \ —E=TURN L1eL — crounp [HEADUIGHT CONNECTOR

Vehicle harnesses ~ 9 pin, P.N. 61437 rev. 7, 8, or 9 — The indicator light on the solenoid
control will only light when the plow is attached to the vehicle and the ignition switch and

control on/off switch are both turned on.

Vehicle harnesses with revision numbers prior to listed revisions at right — The indicator light will also be
on when the control and ignition (key) switches are ON and the plow plugs are disconnected. If the
parking lights are turned on (with plow plugs disconnected), the indicator light will go out.



Headlamp Kit 9 -Pin P.N. 61540, Harness Kit HB-3 & HB-4 U
Solenoid Control — 9-Pin Vehicle Harness Revision 10 & later - The control indicator light will light whenever
the control ON/OFF switch and the ignition (key) switch are both turned ON. The plow plugs and grill connectors
do not need to be connected for the control light to be on.

-A P.N. 61515 Installation Instructions page 15

8 Y S TEM

ount.

Wiring Diagram
Harness Type - A

TURN . .
To— — —SwicH E" e w/ 9 Pin Headlamp Kit
@t | Y — — _pioD \al= o | —
=iz @ _ _ _ivorcaron uiwt & SAE Headlamp Types
[ "="'_'"f, [22%] _ _con/casr. vave assy EDZB’-'* HB-3 & HB-4
%I;J?:IIB Lécgg —=—t ——=— _ _CONNECTION = LF & UF
—Si -= »
] — — — _ _REVISION 1-9 HARNESSES | p -T
(Control, Molor Reloy, & LokeL — "“I' /B — 3 G
Headlomp Reloys Ground U
BK/0 (GROUND) Through Geill Connector) oa Rey 10 + r 1'
— | MOTOR £,
o| RELAY &
\/ 3 Py ACCESSORY WIRE
3 Rey 1-9 8 ‘o
S o’
P P | Rey 10 + SAFE-6 REV 9 +
. | IGNITION SWITCH
| 10 A REV 1-8
(Low I;EAM) Ill | O/BK Rey[10 +
\ * T LTGR
MOTOR Bk/0 i BK/6~ — — — — — BK/0 Rev|1-9— — —
! DIODE
8 & Rey 7-9
™ | BR/R
! k—.—_.._pusf- e @ 1B
R ——— _ = W/
o : ’ g3
VALVE MANIFOLD > X ) 4 o
w/Y T L f 1 IS
-I { EEx T % L n ¢ E
At~ ss L] s i
o [‘&R \\ LTGR B | loro | |
g LTBL. \ JBBII<-/'-() r. o) I - Ly
v 87 TR 7
| é %I - o |
Bx,/0—/LBx /0 v LOW BEAM L RA'SE
RELAY &
- ‘
BK_ _ _BLACK ™ g«:x a1 _5 A\ é¥¥
B/0_ BUACK w/ORMNGE sTRPE |\ z % U & LBy
BR — ZBROWN 1 &= LTBL a70 |
g%{e_ _mu W/RED STRPE l§_ R R Town
s 51 5] | E-cE N p | P
- - —— 4 L
@- 5‘5' t%n- -b'g'ﬁi Ek‘s’EN 10— | | HIGH BEAM —
f——
O/BK_ _ORANGE W/ BLACK STRIPE l/ 5 6 J mon SOLENOID CONTROL (STYLE 2)
= T R~ RED EI - LB LTBL —| GROUND |16 vEHICLE
W/ TWHITE W/NELLOW STRIE _‘:@-—Pm T | v—Jtow  |HEADLIGHT
Y YELLOW TURN SIGNAL— DKBL DKBL:I crounp | CONNECTORS

Vehicle harnesses — 9 pin, P.N. 61437 rev. 7, 8, or 9 — The indicator light on the solenoid
control will only light when the plow is attached to the vehicle and the ignition switch and
control on/off switch are both turned on.

Vehicle harnesses with revision numbers prior to listed revisions at right — The indicator light will also be
on when the control and ignition (key) switches are ON and the plow plugs are disconnected. If the
parking lights are turned on (with plow plugs disconnected), the indicator light will go out.



Headlamp Kit 9 -Pin P.N. 61540, Harness Kit 2B/2D U -A P.N. 61545 Installation Instructions page 16
Solenoid Control — 9-Pin Vehicle Harness Revision 10 & later - The control indicator light will light whenever - SYSTEM Wiring Diag ram
the control ON/OFF switch and the ignition (key) switch are both turned ON. The plow plugs and grill connectors “nlmnunt
®

do not need to be connected for the control light to be on. Harness Type -A

- T SWITCH H .
g | v - § TURN s,m_r ——_—— w/ 9 Pin Headlamp Kit
...... -
T &R @ _ ... _inoicator wowt L= park— 1T — & SAE Headlamp Types
@ﬁ—‘i (2] . _ _cow/cart vave assy 2HBé2‘IID
PLOW LIGHT R Y T =
CURB-SIDE g| | T =--conmecTon o HB-5
~-----._ .REVISON 1-9 HARNESSES | % H -a:l_
(Control, Motor Reloy, & . - =
Heodlomp Reloys Ground gow II“I'O/BK 2 l— BATTERY =
BK/O (GROUND) Through Grili Connectlor) Rey 10 + ,° I |
’ MOTOR &
I3 RELAY &
B x ~ ~ ACCESSORY WIRE
Rev 1-9 § o\ T
//// E Rev 10 + °,l SFE-6 Rey 9 +
. o : IGNITION SWITCH 10 A Rey 1-8
BK W ' 3
~BK ' 0/BK Rey 10 + —i
(Low BEAM) \ ~LTGR Yy *' LTGR
MOTOR __;l;(B/Lo K/ -4----BK/O=-=-=-=-=-=--1 ===4-=BK/O Rey 1-9--+-}
o A DIODE
1 La _
| & 550350 +:Rev79 o/
8 —y 902 o — T NN
AN x ———PU~ - - o w/Y.
| — " =111 .
o - BR + ®
VALVE MANIFOLD > X} L pY -—— =+ PU. % ° é
w/Y B L 209200 - GY g o s
] || BEs =F & y
\ Y o : Q
LTGR t LTGR - | n :
L LTBL LTBL ~ -
T as Ll 85
3 BK/0~ ' oo
w- B | lara ¢ Ty
B/0—/L-Bx /0 [ - &
o | o Ty RAISE
-4 o | &£
LOW BEAM | : X 1
BX_ ... _BLACK RELAY , L \R|
BK/0.. . .BLACK W/ ORANGE STRIPE : 1
BL. ... BLUE ; ——— -
BR/R.__.BROWN W/RED STRIPE dox -3 L‘Q_\‘J LOWER
PLOW LIGHT g; ..... gs&su -s‘_gL JI. e
DRIVER-SIDE LTBL. -2 TLIGHT BLUE ST <t @ &
;aron____ggmc gnc:-:u 6 o
o7é§.'.'.‘.gmcz W/BLACK STRIPE 5 & SOLENOID CONTROL (STYLE 2)
ROIIIITRED 1o PARK—— 4 = e HIGH BEAM RELAY | | ~
w..oooo WHITE I '™ [0 vEHICLE
:l/Y __.-#&EWW/YELLOVI STRIPE K ZTURN SIGNAL: BL—| GROUND |HEADLIGHT CONNECTOR
Vehicle harnesses — 9 pin, P.N. 61437 rev. 7, 8, or 9 — The indicator light on the solenoid Vehicle harnesses with revision numbers prior to listed revisions at right — The indicator light will also be
control will only light when the plow is attached to the vehicle and the ignition switch and on when the control and ignition (key) switches are ON and the plow plugs are disconnected. If the

control on/off switch are both turned on. parking lights are turned on (with plow plugs disconnected), the indicator light will go out.



ITEM PARTNO. QTY. DESCRIPTION
Found in Hydraulics Box No. 56355 or 56365

31 56369

32 . 56283
33 . 49286
34 . 49287

35 . 55923
36 . 49283
37 . 56199
38 . 93153
40 93154
41 56308
42 90388
43 91242
44 55381
45 93157
46 91231
50 61169
51 56134K
43 . 91242
52 . 91402
53 . 91202
54 . 92842
55 22511
56 90002
57 91101
58 91331
61 56099

49326

62 66130
63 59114

1

— ok ke

S~ NORNN NN 2 2 AT 2R afNN = =

—

2
1

SOLENOID CONTROL (Style 2)

SHIELD

BODY W/LABEL & LENS (Style 2)

LEVER, SPRING & ACTUATOR
KIT (Style 2)

SPRING - CONICAL

PC BOARD ASSY MOLEX (Style 2)

BASE

#6-19X3/8 SL HXW TFTS HILO

#8-18X5/8 SL HXW TFTS HILO

CONTROL BRACKET

#10X1 SL PN TFTS TY AB BZP

#10 SP LK WASHER BPO

CABLE CLAMP

#8-32X3/8 SL HXW TCTS TY T BP

#8 SP LK WASHER BP

CABLE ASSEMBLY - VEHICLE

RELAY-SOLENOID HYDRAULIC SYS

#10 SP LK WASHER BPO

#10-32 HX NUT ZP

5/16 SP LK WASHER ZP

5/16-24 HX JAM NUT

BATTERY CABLE 22” RED

1/4-20X3/4 HX CS G2 ZP

1/4 PLAIN WASHER TY A STD ZP

1/4-20 PT HX LK NUT NYIS ZP

DIELECTRIC GREASE TUBE
(0.25 ounce)

WESTERN DIELECTRIC GREASE
TUBE (2 ounce)

RUBBER GROMMET

SELF STRIP WIRE CONNECTOR

Parts listed above may be found in one of these assemblies.

56368
. 56367

. . 56358

1
1
1

CARTON ASSY LOOSE PARTS U
BOLT BAG ASSY LARGE U
BOLT BAG SMALL U

Mount Assembly Box No. 62200

Harness Kit without DRLs, No. 61545, 61515, or 61575
Harness Kit with DRLs, No. 61555, 62535, or 61585
Hydraulics Box No. 56355 or 56365 '

PARTS DIAGRAM & LIST

ITEM PARTNO. QTY. DESCRIPTION

65 61546
61556
61576
62536
61716
61586

66 61437
61557

67 61548

68 60109

69 59224

70 61535

72 59223

1

1

1

AW N ==

8

PLUG-IN HARNESS 2B/2D U -A
(For Harness Kit No. 61545)
PLUG-IN HARNESS 2B/2D U -B
(For Harness Kit No. 61555)
PLUG-IN HARNESS 2E U -C
(For Harness Kit No. 61575)
PLUG-IN HARNESS 2E U -B
(For Harness Kit No. 62535)
PLUG-IN HARNESS HB-3&HB-4 U -A
(For Harness Kit No. 61515)
PLUG-IN HARNESS HB-3&8HB-4 U -B
(For Harness Kit No. 61585)
VEHICLE HARNESS 9-PIN (W/O DRL’s)
VEHICLE HARNESS 12 PIN (W/ DRL’s)
PLUG COVER
FLASHER HD
BULLET RECEPTACLE CONNECTOR
RELAY SPDT
*W/O DRL’s - Qty 2, W/ DRL’'s—~Qty 3
CABLE TIE

Parts listed above may be found in one of the following assembly.

61547
61559
61572
61577

1
1
1
1

90/%

Found in Mount Box No. 62200
4 CABLE TIE - LONG

85 61536
90 56080

1

PARTS BAG

PARTS BAG (HARNESS KIT U NF)
PARTS BAG (HARNESS KIT U)
PARTS BAG (HARNESS KIT U NF)

%——85

DASH BRACKET

Indented part numbers are included in the assembly under which they are
listed. Quantities shown are included with the assembly.

ASSY Assembly

BP
BPO

BZP
o153
DRL’s

G
HD
HX

Black Phosphate

Black Phosphate
& Qil

Black Zinc Plate

Cap Screw

Daytime Running
Lights

Grade

Heavy Duty

Hex

HXW

LK
NF

NYIS

Abbreviations

Hex Washer STD  Standard

Lock SYS  System
No Flasher TCTS Thread Cutting
Nyton Insert Tapping Screw
Printed Circuit TFTS Thread Forming
Pan Tapping Screw
Prevailing Torque TY Type
Slotted u UniMount® System
Spring w/ With
Single Pole Double W/O  Without

Throw zp Zinc Plate

This product is manufactured under the following patents: 4,280,062, 5,240,480, 5,125,174, and 4,999,935. The following are registered®and unregistered™ trademarks of
Douglas Dynamics, L.L.C.: WESTERN®, ISARMATIC® , Hydra-Tum® , UniMount®, Roll-Action™ , and PRO-GUARD™. Western Products reserves the right under its Product improvement
Palicy to change construction details and furnish equipment when so altered without reference to illustrations or specifications used herein.

Form No. 13660

—24

Printed in U.S.A.



